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Practice 5A: Chapter 3, page 81

Evaluate each of the following expressions fora=2,b =5, andc = 8.

2a+9b = -6b+4c =
13c+7¢+3= 7b+a-8b =
13a+3-11-8a = -5b+c-b-14b =

-2b+8a+13b+12a = -5+10c-11b+7b =
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Evaluate each of the following expressions forx =3,y =-2, and 7 = 5.

7x+13z=

-9y+15y-13z-6y=

3y+15x-4x=

10-11y+12z+10y =

-z—-9z7-12x =

27+8y+5y+15=

12y-5y+3z =

Sx—-8-8x+6z=
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Evaluate each of the following expressions forr=5,s =4, andt = 2.

2r—8r+8s-2s =

-4t-12r+7t-80=

-6s+r—-4s-5r+4r—-t=

55-9t+4-6f—-3s+9s =

-r+2s—-7s-2r+4r =

-8t+125+13s+13-12/-15-13s =

15¢t+15s+4t—-11+75s+91+ 8¢ =
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2a+9b =49
13¢+7¢+3=20c+3=163
13a+3-11-8a=5a-8=2
-2b+8a+13b+12a=20a+11b =95
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-6b+4c =2

7b+a-8b =a-b=-3
-5b+c-b-14b =-20b+c =-92
-5+10c-11b+7b=-4b+10c-5=55

7x+137=86
-9y+15y-13z-6y=-13z7=-65
3y+15x-4x=11x+3y =27
-10-11y+12z+10y=-10-y+127="52

-2—-9z-12x=-12x-10z=-86
27+8y+5y+15=13y+2z+15=-1
12y-5y+3z=7y+3z=1
5x-8-8x+6z=-3x+6z-8=13

2r—-8r+8s-2s =-6r+6s=-6
-4t-12r+7t-80=-12r+3r-80=-134
-6s+r—4s-5r+4r-t=-10s-1=-42
55-91+4-61-3s5+9s=115-15¢r+4=18
-r+2s-7s-2r+4r =r-5s =-15

-81+125+13s+13-12r-15-135s=125-207-2=6
15¢+155+41-11+7s+91+8r =225+367-11 =149



